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1. Which number will come in the place of 1. & T T E%lq—?ﬁl?@ﬂ TRt ¢
question mark ? 7,13, 24, 45, ?
7,13, 24, 45, . (R Tah il
(B) 86 _By86
(D) 96 (D) 96

From the given answer figures, select the

one in which the question figure is hidden/
embedded.

VD_ - { | SSK //
N A%
a b c
(A) d (B) b
(€) a (D) ¢

3. Which of the following are three factors of
production ?

(A) Land, Labour and Water Dk
(B) Land, Labour and Capital %
(C) Labour, Capital and Water e
(D) None of the above

4. has launched the US-India Allidnce
for Women’s Economic Empowerment.

(A) US-India Working Group on Hitman
Rights

(B) US-India Peace Agency
(C) US Agency for International Development
(D) None of these

Directions (Q. No. 5 - 7) : Six persons
A, B, C, D, E and F sitting forming a circle
and facing each other. B is between A and
C, Eis between F and D. Fis sitting straight
opposite to A and right to E.

S. Dis between which of the following

pairs ?
}A; EF }B{ AE
C) AB D) CF
6. Who is at the immediate left of D ?
(A) E (B) F
C) B (D) A

7. If the positions of B and E are interchanged
and also that of C and D, A will be in between
which of the following pairs ?

(A) CB (B) ED
(C) FD (D) CE
190
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a b c d
—Ad (B) b
(C).a (D) ¢
3. ﬁﬁmﬁﬁw—mm%mm%') (¢
AT, 21 s of
(B) ¥IfH, #7 3t sy (ﬂ
(©) =, Gh ol s (Y C@
(D) ST § & S 7 !

4, %mﬁwf%wsﬁ%anﬁfaﬁwfﬁm%%q
AT -3 sy ypw e 7
/@”ﬂﬂmﬁmﬁmmw.—éﬁmaﬁ%ﬂgy
(B) 3. v8. -3fean dig wsid
/@a@ﬂﬁmﬁm%mq\.m.qﬁ?ﬁ
(D) ¥ & 1S et

ﬁﬁm.ﬁ.s-n 1B A@IA, B, C, D, E 3R F T
gﬁﬁé%%afr{@-a@ﬁamqﬁ%mmaﬁtc%a‘mﬁ,
E,Daﬂw%aﬁaﬁ%m,/\%@ﬁémﬁa%ﬁw%
g R | -

5. &)ﬁg%%aﬁé%a@u%aﬁa%? e

A

—BI~AE 4y
(C) AB (D) CF oy
6. FM D ¥ qia =i g ?
(A) E (B) F
€ B
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The ratio between the speed of a train and a
car is 18 : 13. Also, a bus covered a distance
of 480 kms in 12 hours. The speed of the bus
is five-ninth the speed of the train, How much
distance will the car cover in 5 hours ?

(A) 280 km

(B) 250 km

(C) 260 km

(D) Cannot be determined

Which of the following is not a keyboard style ?
(A) QWERTY

[
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8. UF 3 o uk wR A M F s w s
18 13 % 1 ae €, vk aa 480 faft frgh 1202
i o et B 1w e 2 A R 579 2 ) A
‘)qdﬂf?“d"ﬁ?fﬁm'ﬁ{rﬂ 2

260 Tt

(B) 250 fft
(C) 260
(D) Frtfee =1#f e s waren

9. fi=feafaady ‘fn—'{ﬁ U A fedf ad 3 7
| 28 2y
(A) b‘deR TY

(B) AZERTY B P— \f\Z)EjR 'Y:l -
I Y P 2
(C) DVORAK o E’%‘Lﬁ (€) DVORAK E‘ﬁ
]k (8] B 8.7,
(D) QDZERT B 'b}l_{%ERT 404

I travelled 35 km from central point towards
South and then turned left and travelled 17 km
and finally turned left again and travelled
35 km. How far was I from the starting point ?

(A) 17 km (B) 18 km
(C) 35 km (D) 70 km

Acquittal or conviction comes under

(A) Section 247 of Criminal Procedure
Code, 1973

(B) Section 248 of Criminal Procedure Code)
1973

(C) Section 249 of Criminal Procedure-Code,
1973

(D) Section 250 of Criminal Procedure
Code, 1973

Two vessels A and B contain milk
and water mixed in the ratio 5 : 3
and 2 : 3. When these mixtures
are mixed to form a new mixture
containing half milk and half water,
they must be taken in the ratio
(A) 2:5 B) 7:3
(C)4:5 (D) 3:5

BCCI announced the following mentor of the
team India for the tournament, which will
be played in UAE and Oman in October and

November 2021 m N
(A) Ravi Shashtri b 3
(B) M.S. Dhoni
(C) Sachin Tendulkar %—%L,
(D) Saurav Ganguly

miy m 10 .

sIi3 YY) 9 o

Z = ,'3

o9

10. # S fog @ afam 1 =it 35 Feft =@
T amd et 17 Freft = i i ad
Teat 35 fareft e, # atrifien forg & foret

N

—TA]. 17 fodi B) 18 frft
(C) 35 foprt (D) 70 Tt
Jrwgfa a1 Srafafe forees staria s 2 ?

(A) ITaTitres g€ fshan wfean, 1973 i am 247
(B) mquiferss g€ wiskn @fgar, 1973 & amr 248

ey e <8 wfshan @fear, 1973 # aw 249
(D) Uiy <8 ufsean wfgar, 1973 & g 250

12. ASHA MBI M Ffms: 3al2: 3
& orgar A R | T A frsror smmen gy i amen e
AT T 41 fhspor s & fore fyemn s &, @ 3=

~ Tifvaa w7 & fr=t srgum § fern s =R
(A)2:5 (B) 7:3
€ 4:5 _Br3:5
13.

BCCI A WRdta & w1 frfiflad semesr st
3R TR 2021 # u g, ik i § @ ST
e & fore e foma R
(A) T st
(B) TH.TH. HiHt

GENEDN
(D) grE et
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Sclect the correct mirror image of the given
figure whcAn the mirror is placed at line AB.

R

w

B FRS ®) |y

© . (D) s

L

i i

At what time between 3 and 4 O’ clock is

the angle between the minute hand and the
hour hand of a clock 75° ?

(A) 3 hours : Q%minutes
(B) 3 hours : 30 minutes
30x3- 41
(C) 3 hours : —= l
To ~

The price at which equilibrium is
reached is called as
(A) Equilibrium price

2 .
35 11 minutes

(D) Both (A) and (B)

(B) Equilibrium quantity
(C) Normal price
(D) Skimming price

‘Shivering’ during cold is beneficial for
mammals. It helps to ® -l%l
(A) Decrease the body temperature %ﬁ]
(B) Increase the body temperature
(C) No change in body temperature

(D) Increase in the heart beat

The headquarter of South Western Railway
is located at
(A) Mumbai
(C) Secunderabad

(B) Chennai
(D) Hubli

Liberty, Equality and Fraternity are main
principles followed during

(A) Russian Revolution

(B) French Revolution

(C) American War of Independence

(D) Indian Freedom Struggle
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15. | 3 3iR 4 73 3 e i o Tt 35 2 o Rz A 2
¥ % ofta 1 o 750 g 7 e
a3 o 2 S fime con
11 Bee
(B) 3 &/ : 30 fire iz/y éé;
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75 (C) 3 9N : 35—ﬁ=r-12 @ﬁ7 23. Thal
QR o ) 2 . WV
16. asw?awﬁgmma‘m% /‘ OV g c
FEAAR | CE (D) C

(A) dget
(B) Wﬁ Q\Q/\NDZV\ A (i()’c;
(D) f&wnn‘?q\w \ I
17. sﬁm%aﬁm {3 fere “wio’ wmverE R 25 &?P;
_ HuEHareare | (B) £
(A) e &
IR & q9HE Y Fe /M/ﬁ
(C) YRR 3 a1awT= § I qigd 7ef }
(D) BT & WS ) w1 26. Eacl
18. = wfim Yo 1 gearer wel fRad ? E?fgll
AT (B) < resic
(C) Rreetrame (D) gl g;sg
19. fras: SR waaar, gumar aik F Eng|
forgelt a6 e v T ot 7 T ,g@ San
(A) &t shifer ay can
ES (A) ¢
(C) smifeht werra T (C) €
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Society, Tata Steel can speak either Hindi,
English or Sanskrit. Some residents can
speak more than one language, but 75%
residents cannot speak all three languages.
Tl}ere are 43 residents who cannot speak
Hindi, 68 residents who cannot speak
English and 32 residents who cannot speak

anskrit. Find the number of residents who
¢an speak exactly two of these languages.
(A) 36

(B) 40
(C) 65 (D) 73
(3 {2 ?
+5 V1§
. =y

— b
%%ﬁ(qas
EiE

0 7oy )3+ =2
%? M Sk S 2ot X = /¢ CMES - S2
28 1T -
. If 9 men working 7% hours a day can : :
20- ¢ nish a work in 20 days, then hou. oy 20. 3R 9 et s T 5 7, w12 7 T T A
days will be taken by 12 men working QOWI\I‘EIET{W%,H}T 12 et fem 3 6 e
6 hours a day to finish the work, it being F T T o e T R 7, T8 T
given that 3 men of latter type work as ST @1 & % e a1 W % 3 sredt 3 @ wm
much as 2 men of the former type in the TGRS}
same time ? d YFR % 2 et w2
(A) 12% (B) 13 12% (B) 13
(C) 9% (D) 11 (C) 9% 11
1. 10% disFou_rlt and then 20% discount in 21. o & T I e ®Y 0 B
2 successlion 1s equivalent to total discount of 1@0 g); ETR?I% ? afi20% T
?;" J(A) ISZO (B) 30% (A) 15% (B) 30%
‘mﬁ(C) 24% (D) 28% (C) 24% /(’17)'28%
2. In a row of chilldren, Sheena is fifth from . } T ¥ § O gl ¥
2 left and Beena is sixth from right. If they 22 aaﬁaﬁqaﬁqfﬁﬁ,sﬁmm@ : 3ﬁ{aﬁ=narq
interchanged. their places, then Sheena # R | A 3 a1 T i 3w ot g
becg{rtlﬁs th;lrteenth from left. In this it aTd @ e B St @ 1 3@ feafa o st g
condition, what place will be occupied b 5 Sl
Beena from right ? P Y TR - 2 e ?
(A) Fpurth (B) Fourteenth (%) <hen
(C) Fifteenth (D) Eighteenth (C) Tsga (LY e
23. Thalinomics is related to 23. oufoeigE,_ deefm? |
(;5‘ Cost of a plate of food (A) WIS I T e ) e
. V/\B Cost of a telephone call _(BRUF FTeH et st o
O (C) Cost of a marriage ceremony (C) e faarg Turie | wmrd
(D) Cost of a basket of vegetables (D) wfsral i T 2rartt it @mTa
24. Cockroaches are 24, fooagd
(A) Monoecious (B) Monoplatus (A) WHTCRrE By Aied
(C) Dioecious (D) Dendrous (C) sreaifiraa (D) S5
25. ARPANET stands for 25. TALH.UEHIA. w1 Ao
(A) All Record Projects Agency Network tor frapid et S
(B) Asynchronous Records Agency Network (A) ¥l :‘
(C) Advanced Research Projects Agency (B) o faré i Jead
Network - (C) TS fd oy T Head
Asynchronous Research Projects Agency . 6 Yo
/(91 Network /"B)/E 5 frerd 3
26. Each of the 144 residents in a Housing 26. TARAFTEHT 3fim dregdl 144

1 ford, st o0 g s v & | g e o
3 ifer T A T B, el 75% Frad wd 4R
mﬁzﬁafmm%maﬁa@%:ﬁﬁmm%,
68 P Sisf 7 et wea § si 32 Feneh ww
i dv w1 T P 1 g el & 0
syt 3 & 2 i s T E

(B) 40

(D) 73

19



Group "Har B
— 5’4 -

e —

Joiqﬁggram

anaJobs.in~
X@ AOTEX g,
12X 6 &

= 18 S GMES - 8

i

27.

d

FEas

=

i
i

¥ ¥

Ly

-

imias

[Zoa]

A 175 meters long train crosses a 35 meters
platform in 12 scconds. What is the speed
of the train in km/hr ?

(A) 42 (B) 59
(€) 63 (D) 64

: [®]: s [a]
— 1s spending within budget. o
(A) Fiscal debt RIAE

(B) Fiscal prudence
(C) Fiscal consolidation
(D) None of the above

Consider the following statements about
e-Sanad.

[. Itis an initiative of m
affairs.
II.

Itaims at providing a centralized platform for
contactless, faceless, cashless and paperless
docqment verification/ attestation /apostille
service for Indian citizens, foreigners who
have obtained"documents from document

inistry of external

27. W 175 HECEl 37 35 e F wICHH A 19
g et B | 3 1 if R e A R o

(A) 42 BJ 59
©) 63 (D) 64
28. ______Wﬁ?‘ﬁmm%|
(A) TrThIET SRl
(B) TsTehIa HTaeTt
Progiscaiipkiecal
(D) Iulri & & g T

29. 3-ue % ey # Feaffad sl W fam R |
1. 7e frdw wrrer o Ok TE 2 |
11, 9% 3 st et R & forg o i,
7@ fEa, T W v Fr fa wm
Sefteror/qeTq /o a1 IwEEH W W
wftra el e B, Freia a7 T

have Srivera SR & g T R # |
1ssuing authorities in India,
(A) Only the statement Inislacorrect & mmm Lo %.%
(B) Only the statement 1 is correct (B) AR :
(C) Both the statements I and I are correct —TC) & W E I ‘ O ) f
(D) None of the above (D) ITI & @ IS T '
Indian Council of Agricultural Reseatch 30. 3o wifte aife arfiereer e (ems.dft.u.am.)
(ICAR)-National Research Centre on Equines — Ay fegd e v EEEIERS (qr{amlﬁé)
(NRCE) located in of Haryana. / A T & frg M i R ?
(A) Hisar (B) Ambala — 1 (A) fEm B) AT
(C) Karnal (D):Bhiwani /R (|R _(Cr e (I%Lﬁﬁfl?ﬁ
In which of the following ways, a browser 31. fmfefaa o @ forg o Y T TSN HedHifed
supports multimedia data ? SRITH T IaT R ?
(A) Native Support (B) Plug-ins Tudq (B) <-3H
(C) Helper Programs (D) All of these (C) w8 SIpLe=s (D) 3 gft
The Great Leap Forward Campaign was 32. WEM W smE AP ad ¥ oy g |
initiated in the year
EX)I 11a92 ! B) 1972 (A) 1948 _(ByA972
(C) 1980 (D) 1958 (C) 1980 (D) 1958
Telecommunications Business Act, called 33. TEER HIE mﬁm “ﬁ‘m HILT el
the “Anti-Google law” is related to M__ Awefm?
(A) South Korea (B) North Korea () 3feor e (B) 3 Fifet
(C) Russia (D) China (D) <

How many terms of the AP 80, 75, 70, ... are
required to make their sum equal to zero ?
(A) 25 (B) 30

(C) 32 (D) 33

34. FHR A 80, 75, 70, .... H Frer 7l A A W
I Y[ o S A ?
(A) 25

_or82

(B) 30
(D) 33
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is used to regulate the Dearness 35. e IT(%TGI?T‘F 3 i
Allowance (DA) of government staff and T %éﬂing st (fe.u.) =i Fafia @ %
industrial workers. fou Y @l . )
)A,}/éonsumer Price Index for Industrial R?E! (A) Y g2 R gefesaet ke (4 ft.e. -
Workers (CPI-IW) %é]

S
g.mé

37.

ulrftor. /
O/Yign the second week 20% of the remainder

rj\/yhe remainder is cut away and polished
t

38.

39.

40.

(B) Consumer Price Index (CPI)
(C) Wholesale Price Index (WPI)

(D) Wholesale Price Index for Industrial
Workers (WPI-IW)

How many 6’s are there in the following
number sequence which are immediately
preceded by 9 but not immediately
followed by 4 ?

56432963164964215967214
749642

(A) One (B) Three
(C) Two (D) Four
A magble§

tue is being carved by a
the first week 35% is cut away,

is cut away and in the third week 25% of
o produce the final statue. The weight of

the final statue is 48.75 lbs. What was the
weight of the original piece of marble ?

(A) 100 Ib (B) 110 1b

(C) 115 1b (D) 125 1b

(7)" %(3)° +(6)’ = 392 3
(A) 12348 LT 5
(B) 85.75 249 of

(C) 1543.5 £8 L =<

(D) 257.25 9 > <

Which letter will be the fifth from the right
if the first and the second, the third and the
fourth and so on are interchanged in the
word ‘COMPANIONATE’ ?

0CPMuA

(A) A (B) 1
(C) N (D) O
Who gave the statement as, “a single shelf
of a good European library was worth the
whole native literature of India and Arabia” ?

(A) Charles Wood =5
(B) Macaulay 2 {J T2L)
() Rajaram Mohan Roy 72—

(D) Swami Vivekananda 2 0¢
) | & ©
o DS -7-
3¢ o 'y 7
= 2352
2.5 > o aEmsd

-,

9.

8607, )
ey Y g2 (dfem.)
EE; rerdie 1 39 (Saeyfi. 4.

(D) Frerdiet du g2 it Fefezaa T (3577,
o}, 3718, - 378,85, )

36. ﬁc{%ﬁaaaiawj@wﬁ@%ﬁ6%ﬁfﬁgig (
T O 2 g A A 4 7 AT 7 i 6>
5643299_3164924215937214
749642
(A) T (B)

— TR (D) IR

37. T AR T FWORX A AR FIHT @
| vg e # 35% e far sman ¥, g g §
A9 1 20% e fa strar @ i it gware § 99
H126% ohie e stmar ® &R ifm qff s & forw
aifetsr foman stran 2 | 3ifom gfd @61 awi 48.75 1bs 2,

T & A Zhg 1 I fhamm o1 ?
(A) 100 1b (B) 110 Ib
—t€r1151b (D) 1251b
38, (7)° ()" +(6)"=
(A) 12348 3% -~ 36
(B) 85.75
(C) 1543.5

/('DT257.25

39. -1 & AT¢ | wiwan B IR vl
‘COMPANIONATE’ ¥ Ygat 3R q&, dier sik <)
ST 3T oft 7er 1 Tere 0 @ weet S »
A) A (B) 1
S N (D) O
40. %ﬂﬁmﬁmmﬁs“@mqﬁmw
1 T Vo6 WA 3N 3R & @ Anft wiiee & o
ar’’ 7
/(Mmarfgs
/pﬁmé
(C) TSR HYed W
D) @ s
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United Nations Organisation came into 41. g -
force on 4l 1945
(A) 24" January 1945 (B) 24 fe 1945
th e 2T 5
(B‘) 24" December 194 (C) 24 3T 1945
(C) 24™ October 1945 s 1945
(D) 24" April 1945 (D) 24 s 31 T
Hgg'q’}'ac‘ a1
is an example for covalent or 42. ,,_—fg—,‘
network solid. TEE | ZnS
(A) MgO (B) ZnS (A) MgO (Dv) CaF,
(C) SiC (D) CaF (C) siC . .
- : s o il BN 1 g afe
— 1s§ hégh speed memory 43. W) 3 3uersy B ﬁmmam
available inside Central Processing ST, 3;|—$régﬁ q% Ue
Unit (CPU) to speed up access of data (Tq) 7 e et N s
and instructions stored in Random e
Access Memory (RAM). (A) e
(A) Registers o
B) & meitoy B e m &)
(C) Read Only Memory (ROM) et o 2
(D) Random Access Memory (RAM) (D) trew TFEE )

The batting average for 30 innings of a
cricket player is 40 runs. His highest score
exceeds his lowest score by 100 runs. If these
two innings are not included, the average
of the remaining 28 innings is 38 runs. The
lowest score of the player is

(A) 15 (B) 20

(C) 18 (D) 12

Rivers Alakananda and Bhagirathi join to
make river Ganga near

(A) Devprayag (B) Vishnuprayag
(C) Nandprayag (D) Rudraprayag

Unauthorized use of trademark is

known as

(A) Cyber haking (B) Cyber squatting
(C) Cyber spacing (D) None of these

United Nations High Commissioner for
Refugees (UNHCR), second time won

the Nobel Peace Prize in the year

(A) 2021 (B) 2020

(C) 2019 (D) None of the above

Yeast commonly reproduce by
(A) Budding (B) Fragmentation

(C) Spore formation (D) Acids

44, (G Tree Raardl # 30 T H A

100 T a1 21 gk 37 & 3w 1 7 mive f
S, @ S 28 3FM F TY ImeR ofwd 38 1
BT | 36 RaeTet 1 <A TR FT R 7

(4) 15 (B) 20
_cp18 (D) 12
45. IcihHael R st afet T ad
/::)?%%Q hoE et d | g
E.qu B |é“3]§lql’l EHE
(& Tasram )‘ TS
46. m%ﬁmmna%\a;wﬁ
ST AT @1
e S (B) Hrw-wten
(C) et fie (D) ¥ & 7 7]

47. wﬁzﬁ%mwww
, (CRERLER:Itd
Sl A A il g v o o
(A) 2021 (BY"2020
(€ 2019 (D) 3wt & =d ey

48, '@"ﬁ'{mw\m ﬁ
sy

FIESS ABY G (Fite
(C) ey it (D) ¥t e
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ALU stands for
(A) Algebraic Logic Unit

(C) Algebraic Logarithmic Unit

(D) Arithmetic Logarithmic Unit

Tradeable instrument issued by the Central
Government or the State Governments is
(A) Government Security (G-Sec)

(B) Share bonds

(C) Salary bills

(D) Demand drafts

Fertilization in reptiles is

(A) Absent (B) External
(C) Very rare (D) Internal
To create new e-mail is used.

&) Compose mail )Bf ‘Forward mail
C) Attach mail D) Repl
(>l' ach mai ()2 eply

Three positions of a cube are shown below.
What will come opposite to face containing $?

% A +
s |*|| + [®]] & [*]. 8N
RN
(A) % (B) &
(C) ~ D)+

The famous Harappan Sites Lothal and
Dholavira are in the state of

(A) Gujarat (B) Rajasthan
(C) Haryana (D) Bihar

In a certain code, RAINBOW’ is written fas
‘BOWNRAI’. How is ‘GERMANY’ written 1n

that code ? E
(A) ANYMGER (B) AMNYGER ’El 4
(C) ANYMEGR (D) AYNMGER =~

Elections to the Constituent Assembly were
held in

(A) August 1940

(B) July 1946

(C) September 1951

(D) None of the above

-9-
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49, UUH.7, FI HAH 8

(A) Testfareh wiforeh e
oiifesh wiforR gfe

(C)@ﬁ%afrr&aﬁqw@z

(D) ufterfeeh ittt 7fTe

50. #mmmwﬁmmmaﬁa@

51.

52.

53.

54.

55.

56.

(D) Tt
@mﬁ?ﬁqf@:ﬁﬁﬁﬁmﬁﬂﬁwa@w

¥ faoda = e ? —
% /) A + ;%
-4

$ * + $ & *

(A) % By & R
(©) o+ 4 A
yftrg TS T Siud R YTt + ¥
TS HE =
(A’fw /fB)/lTKﬂWH

(c))igfcuwn (g)’r‘ara-r(

T F2 § ‘RAINBOW’ i ‘BOWNRAL fer@r St
2 | 36 g2 i ‘GERMANY’ & ¥4 forar smem 2

/(A{ ANYMGER

}Q) ANYMEGR

(B) AMNYGER
(D) AYNMGER

Gfyum @ 3 forg AT e gatr o ?
(A) 3T 1940

(B) T 1946
frat 1951

(D) I # & g E
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Two wires A and B have the same length ang
area of cross-section. But Young’s modulus of
Ais two times the Young’s modulus of B. Then

the ratio of force constant of A to that of Bis
(A) 1 B) %

(€ 2 (D) V2
is the electronic version

which usually reside
(A) Soft copy

(C) Print out

ofan output,
s in computer memory.
(B) Hard copy

(D) None of the above

in surroundings.
(A) Case poverty
(C) Absolute poverty

The batch of consists of State
Emblem and Two Stars.

(A) Director General of Police

(B) Inspector General of Police

(C) Deputy Inspector General of Police
(D) Senior Superintendent of Police

(B) Asset poverty
(D) Relative poverty

Which of the following €conomy also called
as laissez faire ?

(A) Mixed economy

(B) Capitalist economy

(C) Socialist economy

(D) None of the above

Which ovary is said to be Inferior ?

(A) Ectogyny (B) Perigyny

(©) Epigyny (D) Hypogyny

To link the documents on the internet we use

(A) Hyper media (B) Hyper text
(C) Hyper link (D) None of the above

Doha declaration is related to

(A) TRIPS agreement

(B) UNCLOS agreement

(C) BIMSTEK agreement

(D) TRANSS agreement

The L.C.M. of ga3 +b3) and (a" -b%) is
(A) (a® *b%) (a +b?)(a - b)

B) (a®+b%)(q +b)(a? +b?)

(©) (a+b)(a2 +ab+b2)(a3 +b3)

©) (& +) (- 2)a v)

ﬁ%ﬁ]

-10-

57.

S8.

59.

65.

” | CMES-g,

e 5

Qi A ol B A i S ST T v gy,

% 1'9ig A 1 5 A B B AT A By

4t A 3y e Pt 1 B 35t P @

(A) 1 | | /"Bj/y2 %ZEﬁ

(C) 2 (D) 2 N

Qaﬁﬁﬁ—aaggéifalﬁlﬁméa}

(A) H‘T’%iggﬁ} Eﬂém

(©) fiie amse (D) ST & & 7
wrHToeh gfeeshion & it foram e @ & iy

?&%&Tﬁ@ﬁaﬁm%mﬁfﬁmﬁ?ﬁm

A e =R |

(A) e et (B) Haf¥r mieh

(C) o wrhyefy B ame misht

mﬁamﬁaaﬂta’rﬁaﬁmwﬁm%l

(A) gfera TeTfRTeR

(B) BRW 2w

(D) TRANSS Tweiiay

(a3 +52) o (9 ~b*) %1 et
8 (& 1) (22 4 12)
e

—C{a+b)(a? *tab+b?)(a3 +b?)

D1 (02 +5) a2 ),
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66. What is the minimum number of cuts 66. UF T FI 343 Th H FeA F feru anfesa =aw
required to cut a cube into 343 pieces ? F12 h T&AT B
(A) 19 (B) 24 —1A) 19 A 24
(C) 18 (D) 21 () 18 Dy 21
67. Which of the following is not a type of RAM ? |  67. Fpeaferfiad & [ Fr—1 YreH T T ()
(A) Dynamic Random Access Memory ST TR 27
(DRAM)
(B) Static Random Access Memory (SRAM) (A) AT teH TR EEIL @i‘q)
(©) Sﬁfnck;gr;ggs}{]{iﬁr)lamic Random Access (B) 2 tren I (TE.1) .
em ; R T A
(D) Parameter Random Access Memory (CREEIEE e (SR
(PRAM) 4Bt et Yrem TR B (1.49)
68. Which metal has lowest melting point ? 68. fwu a1g &l T = w7
(A) Tungsten (B) Gallium W (B)
(C) Germanium (D) Zirconium (C) SR (D) SAdIERL
69. Auguste Comte named the scientific study 69. TR IR A W yfemt % e TeE Cal
of social patterns as afean? |
(A) Determinism __{xy fradcam
(B) Positivism By HehTeHshdrETs
(C) Behaviourism ALY TR
(D) Relativism (DT
70. Which of the following is not a symptoms of |  70- frfrfaa § @ Ai-w sTerfees fosa 1 T
| altitude sickness ? Ao T & 7
’C/E\ '(A) Nausea (B) Heart palpitations — o Tt (B) &4 I UgHhA
(C) Fatigue (D) Diarrhea (C) I (D) sTafEn
71. White Label ATMs or WLAs, are the-ATMs 71. = EA AW, AW TAL,, wdwm R
set up, owned and operated by 3 T o7 Henferd feran S @ |
/flﬂ' Scheduled Commercial Banks ((-k)’?ﬁi[%ﬂ%ﬂ aforfSues o
(B) Non-Banks e (B) | ém. .
(C) Reserve Bank of India (RBI) £ (C) fesrdl & a1k Sfean (s .o,
(D) None of the above ] (D) IuteFi 8 & 1§ e
72. A dice is numbered from 1 to 6 in different | 72. % T g 7ft% @ wewn 1 9 6 forefi i @ | Afe
ways. If 1 is adjacent to 2, 4 and 6, then which A1 1, AT 2, 4 31 6 o @ g, at ffaafad
of the following statements is necessarily 1 A F-g1 F99 217 w9 @ g & ?
true ?
(A) 1 is adjacent to 3 &) 4 32 ; & }"\
(B) 2 is opposite to 6 (B) 2,6 & . = L/ =
(C) 3 is adjacent to 5 —ICy3, 5% 3ra g R Q{ <
(D) 3 is opposite to 5 (D) 3,5 % fawdia gom by A
73. f\s g&’i/%in Siggle Iﬁj—L‘me Memory Modulus 73, TN frew i # v 30-fi fe g A
used in older system boards, which LR ) s@n Y et 8, S aAfne
(deliver _____ byte of data. % (Wa:f gg;é 2‘1(1)1 g1 i
A) 1 (B) 2 =——
C) 3 A) 1 (B) 2
© (D) 4 __4e)3 (D) 4 |
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74.

7S.

76.

77.
78.
79.

80.

81.

82.

19

Join Telegram GrOlE"HaryanaJobs.in"

It deals with the interpretation of classical
ancient literature of ancient Indian society
texts

(A) Archaeology
(C) Anthropology

If n identical drops of mercury are combined
to form a bigger drop, then the capacity
of bigger drop, if capacity of each drop of
mercury is C, is

(A) n*C (B) nC

(C) n*C (D) n*C

Who was the first President of U.S.A. 7
(A) George Bush

(B) George Washington

(B) Indology
(D) Demography

(C) Thomas Jefferson
(D) John Kennedy

The theme of International Youth Day 2021 is

(A) Transforming Education

(B) Youth Engagement for Global Action

(C) Transforming Food Systems : Youth
Innovation for Human and Planetary

Health
(D) None of the above E%EE
Polymorphism arises due to CEHC
(A) Mutations (B) Evolution

(C) Recombination (D) Transformation

Which of the following is the principal form
of carbohydrate which can translocate

throughout the plant by Phloem ?
(A) Cellulose (B) Sucrose

(C) Maltose (D) Lactose

A scientific study of the nature, extent, cause
and control of criminal behavior is called as

(A) Criminology (B) Indian Penal Code
(C) Penology (D) None of the above

The exchange rate is determined by the market
forces of demand and supply is called as

(A) Fixed exchange rate

(B) Foreign exchange rate

(C) Flexible exchange rate

(D) None of these

Animals possessing coelom are called

(A) Coelomates (B) Acoelomates
(C) Pseudocoelomates (D) None of these

e

fl — N CMES - g,
74, e st EmE e 3 T T
| o e @ G @
form (B) R ferem
(D) SHETfeTH
o 2 et T a e o ey
T &l n T GHE ‘
e fﬁqﬁqﬁﬁnm@aamcjﬁwaa%ﬁ
YT & - .
% C n2
((é)) 2%C (D) n*C
76. GYFd g ARG (F,09.T.) % FoH Ugufy
F A ?
(C)m%tﬁéq
NEEETE
77. AR gan feaw 2021 w1 g wn R ?
(A) sEerd fanem
+B) 4¥ TISTHE B Teleel TaeH o .
(C);iawf&frrigﬁ@vm;qgsﬂémwmqg
T Bey
(D) 390 § @ 1S T |
 of\
78. SgEwAl & T Eeft R Y
(A) Ieaftad (B) farma
(C) Freeltsr Dy &
79. R veien g T e e
FIIE T ?
M@'@T (B) ﬂ?ﬁ'ﬂ
(C) "t (D) ST
8O- Sl ST i s, wht, won e i
T e =y FET IR |
(A) TR B R 3 wfa
(C)Frers (D) 3wiiea i & rd 7
81. ﬁﬁmmwﬁu‘r{wmaﬂz ¥ TSI A
mmm% \_*‘ ;W%;T%I
Tt fafim
ARt fafg =1 ——
(C) mﬁﬁtﬂla ”‘[ﬁ
(D) &7 ¥ #1d 7¢ [l
82. M @ a1t iy vy &
(A) Hiemiz —BY e
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84.

87.

88.

v

A
X

o
o
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In the question, two statements are given
followed by two conclusions. Choose the
Conclusion (s) which best fit (s) logically.
statements :

1. Some A are B

9. Some B are not C

Conclusions :
. NoBis C
II. Some A are C
(A) Only conclusion II follows
(B) Only conclusion I follows
(C) Both conclusion I and II follows
(D) None of the conclusion follows

Find the missing term.

2,4,16,128,?
(A) 2041 (B) 2045
(C) 2046 (D) 2048

Indian standard time is

(A) 5.30 hrs ahead of Greenwich Mean Time
(GMT)

(B) 5.30 hrs behind of
Time (GMT)

(C) 5 (egd of @ree
(

D) behind of vich Mean Time (GMT)
Which of the following ministries of Central
Government has launched the Scheme for
Good Samaritans ?

(A) Ministry of Road Transport and Highways
(B) Ministry of Home Affairs

(C) Ministry of Railways

(D) None of the above

1.6 expressed as a fraction is

16

o = B) —

10 09
(€ = (D) None of these
Chef : Kitchen :: Artist ?
(X) Cabin (B’f" Factory
(Cy'Theatre (DX Casino
The Dose of Malathion is
(A) 0.75 % (B) 0.25%
(C) 0.50 % (D) 0.1%

The Delimitation Commission is appointed
by the President for the purpose of
(A) Drawing up the boundaries of

constituencies all over the country
(B) Drawing up the boundaries of states

all over the country ] _
) Drawing up the boundaries of union
territorjes all over the country

(D) None of the above

-13-

'*Eﬂ*:l?e Fa g
i YA ¢ .
1.F3A, B
z,gBacq‘a"f%
foreerd
I,QﬁiB,C;ﬁ% s
g A, C
A
I
(C) @t fead 1 ST F § )28
(D) S Frs TgeC el H L
g4, < HEH IAH | T8
zﬁﬁé‘,”lzsf? 3
(A) 2041 (B), 2045
(C) 2046 /(15} 2048 //22?
85, sl W @A @ %
(A) mﬁarmm(sﬁ.qq.z‘t.)%s.soqéam g e
/uarzﬁwfév i 2rem (Sh.Ta.d.) % 5.30 e —
(C)zﬁqﬁ?tﬁqm(sﬁm.a.)%sd%aﬁ Sy L
(D)uﬁqﬁﬁmm(sﬁmﬁ.)%sdédﬁ
86. ﬁﬂ%ﬁaﬁﬁﬁﬂq-ﬁhm%mﬁﬁ
epfirer wit o forw AT g R 7
(B) TT& HATTH
ORGELEISE
e KRG
87. 1.6 =1 firg ¥ w0 o 9 sxa fpan s ? /6
@A) = 10 P2y
19 09
© 3 (D) T & <
88, WG : e emfde: ? 7
(A) e (B) ¥k
foRret (D) ¥R
g9, renfoam g
(A) 0.75 % (B) 0.25 %
_ey0.50 % (D) 0.1 %
90, il s < Frgfd gt g v 3 &
femu & ST @ 7
(A)tﬁt%ﬂﬁﬁaﬁﬂaﬁsﬁaﬁvﬁmaﬁw

FY-1@1 TR FHAT
(B)@%mﬁqwﬁﬁaﬁmaﬁmw-%@mm
M%ﬂﬁ%immg%sﬁﬁtﬂmaﬁ
1 ®Y-TGT TR FHAT
(D) I § | 1§ &I
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91.

English Language

Fill in the blank with appropriate modals
from the alternatives given below it.
You have a holiday tomorrow.
By need (B) shall
Q dare (Q none of these

Fill in the blank in the following
sentence using the verb forms of the
word given in the bracket from the
alternatives given below it :

92.

He is trying to
(A) justice
(C}ijustiﬁcation

(justice) his claims.
Jjustify
(D) juridic
>
Fill in the blank with appropriate concord
from the alternatives given below it.

The accused together with his associates

arrested.
24) are l%{' were
—{E}was (D) has

93.

94. In the following question, there is a

statement followed by three starters which
are denoted by a, b and c. Each starter jis
a group of the first few words of a sentence
which, on proper completion, is supposed
to convey the same meaning as the ‘eriginal
statement. Find out which starteér(s) can
form grammatically correct séntence(s) to

convey the same meaning as the original
statement.

No sooner did the band start to play than
the lights went off.

N

CMES - 82
=t st
96. TAT T TS & A9 }
(A) TEAT
(B) Wi

ey s |t
() 57 & i3 T

(=] i)

97. ity =l et & Sef 0 X e
Y A T TSHAN: Y IR R S R e an,
aﬁmﬁa%ﬁﬁawﬁﬁﬁmmzm,miﬁ
ST R |

AT
(B) g
(C) erarfe

(D) $95 | IS e

98. ‘Mem’ IR T T I § |
(A) 3ferepor

(B) 9™

(C) Taiy

(D) 7 & r$ 7k

29. &wd, Fum, ¥ 3, “F I anfe

B Y & IFafq ‘
A¢ As soon as the band ............. : % |
b. The lights went off ............. AT Y e
ge The band started to play ............. (B) 99=g stye
& 0Only b (B) All the three (C) Frerafaius
(C) Either a or ¢ (D) Either b or ¢ D) Bﬁﬁaﬁﬁtﬁﬁ
95. Give the meaning of the underlined idiomatic
expression from the alternatives given below | 100, eI &1 I=qy B * aue 9
it. (understanding the context from the AR )RR 5 . B i i
sentence). p F & 5 T & |
Dhull ax:id long speeches tax the patience of (A) &=
the audience. Bl S
(A] to spend time usefully : ,;.V(Bf
to test one’s patience EhiE () fomnt
(X} major part ;
(12{, to seek to fight (D) ¥ J Rk
-_—
19
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